bar
24

2Xx12=2X%| _|+2X

>

i

2X12=2X|_[+2X

groupS

000000000000 | =, “=sgeee
rumber ine % =t )

—

Sally gives half of her 24 stickers
to her brother. How many stickers

5

n

0 24

LF

12 = 24 then I a\so KNOW. ...

If T kKnowW 2X does her brother get?
2= |+12
L . _ A farmer shares 24kg of carrots
X —o4 multiplied by __is N 24 = |X12 equally between two horses. How
24 = X Double ___is X2 =24 Each box holds a dozen eggs. How
24 = X many eggs are there in 2 boxes?

___shared equdlly between 2 is ___each

A scarf has 12 stripes. There are
two stripes of each colour. How
many colours are there in total?

___putinto groups of 2 is ___ groups of 2
Half of ___is

;.r Ue Or‘ fa,Se?
X 12 is doyble 2x6
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2x11=2% +2X
+

\ e ke

- > D

2x11=2x [+2x [+2x
00000000000 o
number ine 2Xx11=2X%| |+2X
0 >0 4 M ; +

bal
22

groupS

2%x11=2% + 2 X
+

N

[ —
Don saves £2 per week for eleven
w2xil=22 then T also KNOW.- weeks. How much does he save
IfIknO altogether?
=11
. . One plant is 11cm tall. Another is
=00 — muttiplied by __ is X11  (Wice as tall vow tal is the second
___groups of __is =11 plant?
22=| |X Double ___is X2=122 Each box holds a eleven pens. How
22 = X many pens are there in 2 boxes?

___shared equadlly between 2 is ___each

There are 11 players in one team.
How many players are the in two
teams in total?

___putinto groups of 2 is ___ groups of 2
Half of __is
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2x10=2x| |[+2X m

@ par
20

=| [+
- 2%X10=2x%x| |+2X
- > > )
2x10=2x%x| [+2x%x| [+2X
=| [+ [+
number line 2x10=2x| [+2X
@ﬁﬁ =| [+
0, 20 = )_
1l ]

20 rabbits are kept, with 2 rabbits
in each hutch. How many hutches
are needed attogether?

10 = 20 then I a\so KNOW....

1f T know 2 X

. . _ One bag of potatoes wieghs 2kg.
X =20 — Muktiplied by ___is N 20 = X 10 How much will 10 bags weigh?
___ groups of __is Sof[ |=10 | |
20 = X 20 litres of water is equally shared
Double __is X2 =20 between ten small buckets. How
20 = X much water is in each bucket?

___Shared equdlly between 2 is___each

There are ten 2 pence coins in a
tin. How much money is in the tin
in total?

___put into groups of 2 is___ groups of 2
Half of __is

en '\t
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(00000000

___multiplied by ___is

___groupsof___is

Double __is

___shared equally between 2 is ___each
___putinto groups of 2 is ___ groups of 2
Half of __is

=2X +2X
= |+
- 2x9=2x[ |+2x
2xq9=2x| |+2x|[ |+2x
= [+ |+
2X9=2X +2X
+

i se of Naunton Park Primary School.
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£18 is saved in £2 coins. How many
coins are there in total?

Rob gives hdlf of his toy cars to Jim.
Jim gets 9 cars. How many cars did
Rob have to start with?

It takes Zak the dog 9 seconds to
gulp down his dinner. It takes Butch
twice as long. How long does it take
Butch to eat his dinner?

One fence panel is 2 metres long.
How long altogether is a fence with
9 fence panels?

!

pen

0634
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If T know 2%

16

X X

g = 16 then T also KNOW...

___multiplied by ___is

___groupsof___is

Double __is

___shared equadlly between 2 is ___each
___putinto groups of 2 is ___ groups of 2
Half of __is

+ 2 X

2X8=2X| |[+2X| |[+2X

2X8=2X%X| |+2X

||
+

2X8=2X + 2 X

||
+

N

j se of Naunton Park Primary School.
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Harry buys two books that cost £8

each. How much do they cost in
total?

Gill has eight pairs of shoes. How
many shoes is that altogether?

Grandma shares £16 equally
between her two grandchildren.
How much do they get each?

There are 16 wheels dltogether on
some bicycles. How many bicycles
are there?

en S
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2X7=2X| |+2X

- ~ Eﬁm:“" +2X
0000000 sl

@ par
7

i

groups

number line 2X7=2X[ |+2X
= +
0 14 = 1}
[ —
OW Mel jogs 2km every day. How far
KNowW 2 X 7 = 14 then T also KNOW.. does he jog in a week altogether?
If 1 KnO
= =7 Alex collects seven £2 coins. How
h does he have in ?
_ muttiplied by __is N 14 = X 7 much money does he have in total
X =14 groups of ___is % of| |= 14 bulbs are planted in two pots so
14 = X T that there are the same number in
- Double ___is X2=14 each pot. How many bulbs are in
14 = X each pot?
, _ ___Shared equally between 2 is ___each .
- = _ . Parcels each weigh 2kg. The total
— - ___ put into groups of 2is __ groups of 2 weight of all the parcels is 14kg. How
- ' Hafof  is many parcels are there?
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12

12 =

___muttipled by __is

___groupsof___is

Double __is

___shared equdlly between 2 is ___each
___put into groups of 2 is___ groups of 2
Half of __is

2X6=2x| |+2X
.'.
2X6=2x| |[+2X
= [+
2X6=2x%x| |[+2X
.'.

2X6=2x| |[+2X

0

i
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Each ice cream sundae has two
scoops of ice cream. If there are
6 sundaes how many scoops of
ice cream are there attogether?

How many £2 coins make £127
Two monkeys share 12 bananas
equally. How many bananas does
each monkey have?

There are 6 eggs in each box. How
many eggs in two boxes in total?
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10 =

1f I Know nx6=10 then I a\sO KNOW....
10 multiplied by ___is
= — groups of is
* Double iS
X

___shared equadlly between 2 is ___each
___putinto groups of 2 is ___ groups of 2
Half of __is

2X65=2+

+2+[ |+

2X6=2X

2X65=2X +2X

+ 2 X

2X65=2X +2X

M
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George has ten stamps He sticks
half of them to a parcel. How many
stamps are on the parcel?

Fran has five £2 coins. How much
money does she have in total?

Five teams each score two godls.
How many goadls are scored

attogether?

There is 10 pence in a purse, made
up of only 2p coins. How many 2p
coins are there in total?
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2X4=2+| [+2+

2X4=2x| |+2X

2X4=2%X| [+2X

2X4=2x| |+2X

N
Each sandwich has 2 slices of bread.
If 8 slices of bread are used, how

many sandwiches are there?

= -4
L . _ How many gloves are there in four
X _ _ multiplied by __is N . 8= X4 pairs of gloves?
= - zof| |=
8 = X — groups of__is 2 Two footbdllers score 4 goals each.
- Double ___is X2=8 How many goadls are scored
8= |X altogether?

___shared equadlly between 2 is ___each

Erica loses hdlf of her badges. She
still has 4 badges. How many badges
did she start with?

___putinto groups of 2 is ___ groups of 2
Half of __is
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2X3=2+| [+

2X3=2x| |+2X

2x3=2x[_|+2x
+ (2

|
-+

—

If there are 3 children how many
legs are there in total?

If T know 2%3
Books cost £2 each. How many can
o . be bought with £67
. B ___multiplied by __is =P
- - Robbie eats half of his sandwiches.
— X — groupsof__is He has 3 left. How many sandwiches
- Double ___is did he have to start with?
6=_|X
, _ ___shared equally between 2 is ___each Two boys have 6 cars altogether.
= = _ . They share them equally. How many
N N ___put into groups of 2 is__ groups of 2 cars do they have each?

Half of ___is
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groupS

O

0

4

-

1fTknow 2% 2 =41
. 4 ___ multtiplied by
B ___ groups of
4= |X Double __is

Half of ___is

___shared equally between 2 is ___each
___putinto groups of 2 is ___ groups of 2

nnnnnnnnnn

2X2=2+

Pouble| |is

2X2=2X[_|+2X

I
+
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Two friends have £2 each. How much
do they have in total?

Seb has four training shoes in his

bag attogether. How many pairs of
training shoes does he have?

Rhian spends 2 hours gardening. Lyn
spends twice as long. For how long
is Lyn gardening?

Del has 4 shirts. He hangs half of them
in the wardrobe. How many does he
hang in the wardrobe?
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